XDWM VA
B RS 1 T S, B 907 HANSAVFLEX

|} sz = Lo
#0 1 KBIN R A ' : sw, ==
BHERXN1 BHELR i T 1
g02 KHARY BRR S
BEER2 20°ME S i
EMEE  ERAREEE TR I
gRER AR A [ st
24 DIN 2353 e e

ISO 8434-1 == S
REEE  BEEFFHERSNYERF) <0
[T e
73
BxRE. EA EXARNAEN THERENHAEESAERERNBERES.
# &

LR Eéﬂz&jj

XDWMNW 04 HLVA L PN 160 6 M 10 x1 14 8 24 12 12,5 19 19 6 6
XDWM NW 06 HL VA L PN 160 8 M12x1.5 17 12 30 15 14,5 21 22 6 6
XDWM NW 08 HL VA L PN 100 10 M14x15 19 12 30 16 15,5 22 22 8 8
XDWMNW 10HLVA L PN 100 12 M16x1.5 21 12 37 18 18,0 25 27 10 10
XDWMNW 13HLVA L PN 100 15 M18x15 23 12 40 20 21,0 26 30 12 12
XDWMNW 16 HLVA L PN 100 18 M22x1.5 27 14 46 23 21,5 29 36 14 14
XDWM NW 20 HL VA L PN 100 22 M26x1.5 31 16 51 25 26,0 33 M 17 17
XDWMNW 25 HLVA L PN 100 28 M33x2 39 18 64 32 31,5 39 50 22 22
XDWMNW 32HLVA L PN 63 35 M 42 x 2 49 20 76 37 35,5 46 60 27 27
XDWMNW 40 HLVA L PN 63 42 M 48 x 2 55 22 85 42 40,0 51 65 32 32
XDWM NWO3HSVA S PN 160 6 M12x1.5 17 12 30 15 16,5 23 22 6 6
XDWMNWO04 HSVA S PN 160 8 M14x15 19 12 30 16 16,5 23 22 8 8
XDWMNW 06 HS VA S PN 100 10 M16x1.5 21 12 37 18 18,5 26 27 10 10
XDWMNWO08 HS VA S PN 100 12 M18x1.5 23 12 41 20 20,5 28 30 12 12
XDWM NW 10 HS VA S PN 100 14 M20x1.5 25 14 42 21 23,0 31 32 12 12
XDWMNW 13HSVA S PN 100 16 M22x15 27 14 46 23 22,5 31 36 14 14
XDWM NW 16 HSVA S PN 100 20 M 27 x 2 32 16 58 28 27,5 38 46 17 17
HRRFLL=FER =B S=E - PN=FEEN PB=HRAIEN - 0d2=E/NER

FREE
XDWM  E$R4iE R T, AE00°, BE(THHRRI AR
DWM VA E#RGIER TR AE0, HHURBINIETNEE

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
06.09.2025 HANSA-FLEX AG www.hansa-flex.com 1



